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Alphabet Test

Test based on sequence of letters and alphabets.



Type-1 Dictionary Arrangement
Arrange the words in dictionary order and answer the question.
Ex. Arrange the words in dictionary order and state the 3rd word.
Apple, Shop, Royal, Forest, Tour

A. Apple
B. Shop
C. Royal
D. Forest
E. Tour
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Type-2 Letter Pair Problems

Find the number of pairs of letters from the word which 
has as many letters between them as in English 
alphabets.
Ex.
 
E X C H A N G E

E H

EJOTY
51015 20 25 Forwand

->

Back
&

5 I 14 7 52.43



Type-3 Word Formation 

You are required to find out the meaningful word from the given
rule.
Ex. A meaningful word is formed by taking 1st, 4th, 5th, 7th , 10th, 11th 
and 12th letters of the word FELICITATIONS. Which of the following 
will be the 5th letter is that word from right?
A. C
B. N
C. T
D. I
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How many such pairs of letters are there in the word 
'COMPUTERS' each of which has as many letters 
between them in the word as in the English alphabets?
(a) None
(c) Two
(b) One
(d) More than three
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How many such pairs are letters are there in the word 
'OVERWHELM' each of which has as many letters 
between them in the word as in the English alphabets?
(a) None
(c) Two
(b) One
(d) More than three
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How many such pairs of letters are there in the word 
ENGLISH', each of which has as many letters between 
its two letters as there are betwee them in the English 
alphabets?
(b) One
(a) None
(c) Two
(d) More than three
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How many such pairs of letters are there in the word 
FOREHAND' each of which have as many letters 
between them in the word as they have in the English 
alphabets?
(a) None
(b) One
(c) Two
(d) Three
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How many pairs of the letters exist in the word
UNDERGROUND' which have as many letters between 
them as in the alphabetical order? 
(a) 3
(b) 4
(c) 5
(d) 2
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How many pairs of letters exist in the word
RESTRICTIVE' which have as many letters between 
them as in the alphabetical order?
(a) Five
(b) Three
(c) Two
(d) One
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If each vowel in the word 'SURROUND is changed to the 
previous letter of the English alphabet and each 
consonant is changed to the next letter in the English 
alphabet, which of the following will be the second from 
the right end in the new arrangement?
(a) N
(b) T
(c) S
(d) O
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If the positions of the lst and the 6th letters in the word 
'COMPROMISE' are interchanged, similarly the positions 
of the 2nd and the 7th and so on, which of the letters will 
be the 7th letter from the right end?
(a) P
(b) R
(c) S
(d) C
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Each consonant in the word 'EXACTION' is replaced by the 
previous letters, if the English alphabets and each vowel is 
replaced by the next letter of the English alphabet and the 
new letters are arranged alphabetically, which of the following 
will be the fourth from the right end after the rearrangement?
(a) N
(b) F
(c) J
(d) None of these
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Which of the following words can be formed using the 
letters of word "SQUIRREL" only?
(a) Square
(b) Quarrel
(c) Liar
(d) Lure
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How many such pairs of letters are there in the word 
"ATTRACTION", each of which has as many letters 
between them in the word (in both forward and backward 
directions) as they have between them in the English 
alphabetical series?
(a) One
(b) Two
(c) Four
(d) Three
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How many letters (as per the English alphabetical order) 
are there between fifth and tenth letters of the word 
RELATIONSHIP?
(a) None 
(b) 9
(c) 7
(d) 11
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